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	((182 - 122) = 13.4
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	a) [image: image1.wmf](
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440

2

2

+

 = 622 km

b)
Tan 20º = x/440


x = 440 Tan 20º = 160


Distance = 440 + 160 = 600 km
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	a) [image: image2.wmf](
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= 15.5

b) cos angle = 4/16; angle = 75.5º
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	a) 5.32 + "0.9"2 = 5.38

(C)

b) tan angle = "0.9"/5.3; angle = 9.6º
(B)
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	a)
DC/8.2 = tan 37º


DC = 8.2 × tan 37º = 6.179...

b) sin DAB = 8.2/17.9 = 0.4581...

      so DAB = 27.26... º  = 27.3º
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	a)
x/1.4 = tan 62º


x = 1.4 × tan 62º (= 1.4 × 1.8807...) = 2.63(30..)

b) cos x = 1.4 / 3.5 
     x = 66.4218…
     x = 66.4º
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	((152 + 122) = 19.2 cm
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	½ × 12sin55 × 12cos55 × 2 = 67.7 cm2
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	a) 0.9 ÷ 3 × 2 = 0.6 m

b) 28 ÷ 2 × 3 = 42 cm
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	a) accurate journey drawn

b)
i) 6.7 km


ii) 356º
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	a) 1/3

b) 
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	Constructs the perpendicular bisector of P and Q.
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	a) and b) 



(C)

c) Reflection in the line y = -x
(B)
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	i) 3 × 5/4 = 3.75 cm

ii) 6.5 ÷ (5/4) or 6.5 × (4/5) = 5.2 cm
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	a) 9 × 1.5 = 13.5 cm

b) 6 ÷ 1.5 = 4 cm

c) 60º
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	100 cm = 100 ÷ 2.54


       = 39.3700 ÷ 36


       = 1.0936


= 1.094
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	i) 1000/(2.54 ( 3 ( 12) = 10.9(36..) yds

ii) 100/"10.9" = 9.1743... = 9.1 - 9.2 m
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	(13 × 14) + 6 = 188

188/2.2 = 85 kg
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	Area of base × 12 = 84

½ × 4 × h = 7

h = 3.5
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	(2 + 4)/2 × 2 × 10 = 60 cm2
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	3.14 × 4.3 × 4.3 × 26.3 = 1526.9 (( ( 1527.7) 3.142 ( 1527.9 = 1530
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	i)
5 × 6 = 30 groats

(C)

ii)
10 shillings = 5 florins


1 shilling = 0.5 florins


24 shillings = 24 × 0.5 = 12 florins 
(C)

iii)
1 shilling = 0.5 florins


3 groats = 1 shilling

     8 shillings = 24 groats
(B)
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	94
	circle around:  r(r + 4h), 
,  
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(h(b2 + ab + a2)
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	scale factor  (vol) = 16 000/2000 = 8

scale factor (length) = 81/3 = 2

req'd area = 60 ÷ 4 = 15 cm2
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	1/3( × 42 × 10

hemi: 

= 134.04

167.55 + 134.04 = 301.59
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	a)



b) 13 = 10 + 5sin (30t)

   sin (30t) = 0.6

            t = 1.23


1.23 
60 = 73.8 = 74 mins

 so ship leaves at 13:14
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	a)
i) ½ q

ii) 2/3 q

iii) ½ q - 1/3 q
(A)

b)
AB // LM


AB = 3LM

(A*)
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	a)
i) 0.615


ii) 0.625
                      (A)

b)
i) 0.615 × 50 = 30.75



ii) 0.625 × 50 = 31.25
(A)

c)  (b)ii - 31 or 31 - (b)i or ½((b)ii - (b)i) 
= 0.25
                                 (A*)

d)   (c) × 10 = 2.5       
      (A*)
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	i)  ( APB = 64( (Angle subtended at the circumference is half that subtended at the centre) (A)

ii)  ( BAO = 26( Triangle OAB is Isosceles so

     ( BAO = (180 - 128) ( 2



(A*)

iii) ( ABT = 64( (( OBT is 90( because BT is a tangent and OB is a radius;


( ABT = 90 - (OBA = 90 -26


(A*)


	5

	 FORMCHECKBOX 

	
	

	102
	a)
i)




ii)






iii) 


b) Either QT and RS parallel or RS = 2QT

	4

	 FORMCHECKBOX 

	
	

	103
	a)
i) 2a 


ii) a - b 


iii) -a - b 

b) i) a - b

      ii)
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	XB/sin30º = 30/sinAXB
XB = 30 × 0.5/sin 20º = 43.86

XY = XB sin50º = 33.596 m = 33.60 m
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	105
	2x = 30, 150;  x = 15º, 75º
	2
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	( UVW = 102 + 52 = 154º

UW2 = 42 + 52 - 2×4×5×cos154 = 76.95

UW = 8.7722

Time for UVW = 9/30 × 60 = 18

Time for UW = 8.7722/65 ×60 = 8.097

Time saved = 10 mins
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	a)
i) 40º

a)
ii)
OPQ = ORQ = 90º



( between tan and rad



POR = 140º ( at circum



PQR = 360 - (90 + 90 + 140)

b)
i) 35º

b)
ii)
opp angles of cyclic quad add to 180º



PSR + PQR = 110



SPQ + SRQ = 250
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	a)
ACT = 25º alt angle


ATP = 25º alt seg


APT = 25º isos triangle

b)
TAP = 130º ('s in triangle


CAT = 50º ('s in straight line


BTS = 75º alt seg
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